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QUESTION ONE: ECONOMIC MODELS AND ECONOMIC GROWTH ASSESSOR'S

USE ONLY

Annual average GDP growth is expected to rise to 2.9% by the middle of 2017, from
2.6% in June 2016, mainly from increasing domestic demand.

Source (adapted):http://www.treasury.govt.nz/budget/forecasts/befu2016/006.htm

Graph One: AD/AS model of the New Zealand economy
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(@) (i) On Graph One above, show the impact of increasing domestic demand on the AD/AS
Model.

(i)  Using Graph One, fully explain the impact on economic growth if domestic demand
continues to remain strong in New Zealand.

Incréeay mcf domestic demand means that

consumpthion spending (O Wil ihcreare as
haa@eba&i} demand more tc/iicﬁc?a/, S omd _Servicoy
fim_pjzodu/*p vi This il lead B increased
incomes _and employment anol firms matf-
decide to_inyest more (I) o _demand. .
ther orodvcti are /,7’5"%' Increaied consumpbon
5_’,5161194&3?_51)154 u.-z_b_MeJ_fm;/pJ %Y ZZ_I,H.A:D_CK??I_I_?_,-,,._
@3_3_£eg_a_7£a___dénﬂamd - hich il Shitt From
B0 1t BD. IF domeshe _demand repsains
J?Zf{)/\j? his NG refull in 3 &:é#éfbgrpmf‘;"/j?
1 fj . gmaJm? real aDF- and _economi

e sy

Economics 91224, 2017



. : . . ASSESSOR'S
Our major trading partners are expected to experience economic growth on average of USE ONLY

3.5% in 2017, resulting in sustained increases in New Zealand export receipts.

Source (adapted): http://www treasury.govt.nz/budget/forecasts/befu2016/006.htm

Model One: Circular flow model
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(b) On Model One above:

(i)  Identify and define money flow A.
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(i) Identify ONE injection and ONE withdrawal, excluding export receipts and flow A.
Injection: &8¢ [/ V€ {timer) 7/(// e

Withdrawal: .1V 2/ 615 g

(iii) Discuss the impact of an increase in export receipts on economic growth. Fully explain:

. how the Producers and Households sectors in the Circular flow model are better
off through the increase in export receipts

. why the increase in economic growth through export receipts may b%
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More answer space is available on the next page.
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QUESTION TWO: GDP AND PRODUCTION POSSIBILITY FRONTIER AsSESsON's

(a) Fully explain a limitation of using Nominal GDP as a measurement of economic growth in
the New Zealand economy compared to Real GDP per capita. In your answer, include a
definition for nominal GDP and a definition for Real GDP per capita.

) Note: Per capita is per head of population
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Graph Two: Production Possibility Frontier Ao
A
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(b) (i) Fully explain the opportunity cost if New Zealand production shifts from A to B.
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(i)  On Graph Two, draw a future Production Possibility Frontier (labelled B*) to show New /
Zealand operating at Point B.

(ili) Using Graph Two, fully explain why the future Production Possibility Frontier (B*) you
have drawn shows a level of potential capacity different from the future Production
Possibility Frontier (A*) created by point A.

The potentral capacity of producing et
fPoint B _is _gmaller thar the jpolentzl
Cﬁpg_Q;/Jj_af_‘._p_f_’O_Q/_(J_M_'/_\ﬁ.__QJ_L poink A This 15

becavje b g produting at point B, the

N Z Cconomy producel ppore Consumer.
good/ and Fewer capital good). Zhi .
inill lead Fo econopaic gro wWih_prow, ay

_fé_g_¢¢gpl%_Q£,.__mAJumpéjﬁg___g_og_d 7 R
[ncreasel. [hjs_allori _hogjehold) o purchase
m_QJIE___éQ/_u(/.M,Qﬁbm_ 3096?.’/_ wWhich. M) INEL8A)e

Z,2017




thelr standard of ) w:;;__ 721 é‘ hew hoave more cce & Jassessors
: U
=

7]

o _____camum/oiz)_a_ﬁ_aa_ L%[iéye?g;”’}”/fb;?’é@z\; )
&tf_.___/oc)//)f g} /’/CIQ economuy ,}’WV)/1 ﬁ)[ﬁﬁ@
,aﬁodmzﬁ%ﬁ__ﬁumézar of ca/n/'/ZrZ_____g_aQé?f[;__.__._m____
(apital “good) allpin for Ature economic

, v : . k) fure .
S’J’_QKM_.XTL?I oy they increase fhea P rodechve
Capacihy ol Armd oy /%c_;j: have ocreli
fbmmé__iﬁgan/[)ﬁy _ond _machine ry. .
Blthough, prodvcing at poin) ) means
that less  cortemphion goods are prodeced
NOW S0 cuirent ecomomilc ﬁmw}% may.
he slower. This s bec'a&j_e_,,___/czj_’_c)_dz/ahg

more_consunaph on. gooack Wil ncreazle
C__Oﬂur_ag}_f;_/:)éo ya) J/W V‘\O//'njz (L )\ N})/K //) ;/1//'//
increaje real GOP-_and curtrentr crom b
;“/o_wdé %zbj ‘/1/‘5}:32@72}’%’2 "UF a}ié% i}t B andl anc/
,Q[de/g}_”? /fel) Cﬁjo/y[w/ 6?40_:29 VN Y/ )2V s
/\V__/U/éi_ 2O ntDy  ghon .._.__éy___/Z}_e___Jma/Z___
o ,/;;;TL/ W }/’1& PP e cyfzci_aa/h/af%/
6’0/% 8 1o 87\‘( J/}’Me al /Oom LB some
Lapter/ {fmﬁdj are 'Jyé// b _.M/degf__egém_m'
procuc bive _capaciky il B incies se bt
the increose il " be  poller 1o
pmafizzé_x'mjr at_point M, where  papre

c_é?p/;z{é?/ _gmm’) are /pf&d&[éﬁ(/.;/

G s e adhy R B S Saa SE

Economics 91224, 2017



QUESTION THREE: IMPACT OF GROWTH ASSESSOR'S

USE ONLY

Both the government sector and the private sector will need to increase infrastructure
investment (e.g. roads, power and broadband) in regional New Zealand. Delays will
cause i_ncreas_ed costs of production and will limit growth in the tourism market.

Graph Three: AD/AS model of the New Zealand economy
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(@) (i) On Graph Three above, show the impact of increased infrastructure on the Aggregate
Demand AND Aggregate Supply curves

(i)  Using Graph Three, explain the shifts in Aggregate Demand and Aggregate Supply
and the impact on economic growth.
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ASSESSOR'S
Spending by passengers and crew of international cruise ships in New Zealand grew by USE ONLY

13% between 2015 and 2016, resulting in an increase in industry employment of 5% in
regions where the ships visited. At present, 17 regions benefit from the cruise industry,
which will attract more workers and capital investment in the future because growth is
expected to be sustained.

Source (adapted): http://cruisenewzealand.org.nz/wp-content/uploads/2016/08/2015-2016-SUMMARY-
Economic-Impact-Report-FINAL-2.pdf

(b) Compare and contrast the impact of the economic growth resulting from expanding
international cruise ship tourism on:

workers in the regions that service the cruise ships
AND
producers in the regions that service the cruise ships.

In your answer, fully explain the benefits and costs.to EACH group.
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More answer space is available on the next page.
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Subject:

Economics Standard: | 91224 Total score: | 22

Q

Grade
score

Annotation

E8

Part A Detailed explanation using consumer spending and
investments as components of Aggregate Demand to justify shift of
curve. Graph and increase in real output is fully referenced in detailed
explanation.

Part B Detailed explanation of why Households and Producers are
better off due to increased export receipts. Detailed explanation of
how increased production causes an increase in a withdrawal (import
payments) as additional raw material are required.

Detailed explanation that increased income received by households
may be saved (withdrawal), conclusion growth is lower than expected

E7

Part A An explanation of the difference between nominal and real
GDP.

Part B Graph correct and referenced in detailed explanations.
Economic understanding of what capital goods are and their link to
potential capacity in the future. A detailed explanation that allows a
compare and contrast between both potential future frontiers A* and
B*. Detailed explanation of A* and B*.

Overall Evidence of detailed compare and contrast.

E7

Part A Explanation using economic terms to justify shift of aggregate
demand, evidence of reference to graph. Partial explanation of shift in
aggregate supply curve, reference to graph in answer.

Part B Explanations about benefits to workers and producers correct ,
more detail is possible . Detailed explanations about costs to workers
and producers that can be compared and contrasted.




